15-15
Select the lightest, rectangular Douglas fir section for the cantilever beam subjected to the loading shown
in Fig. P15-15.

300 Ib/ft /
Solution. ;
i | I /
Step |- A %
/
w= 200 tbf £s By
L= 8
Dovtlas Fi\r - 8 ft -
Tatlow = 1450 ps¢
Tallbw = 95 psv
StepT. Table 12-1, case 6
V = wt = 30016y (94)= 2400 lb

Mp-x

2 L L : 12 1n
Mupy = WL 2 300 Wy (94T = 9600 1b-H ('Y

< = 115,200 \b: \wn
Step 3,
M . Nsaew em g0
”f) Tallow 1480y pst
6\41) » Area © s Ymay = 1.5 (2v0te) - 379 t;a-L
req - ————————— _
b Lallow qs psi
§+e,lpg_ Table A- (/4)
Nomnal Size Aﬂn.z)‘ 5 (J‘n-zr) S wE (byy)
N Ho. 4 oF] (2.9
b X10 g2.3% 82.7 4. S
6 X 12 633 [21 1.

3 %o 7l 3 113 19,8
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solect* Yk (llgh#sf-)

wt ot keons - 129 1b/++ - 9,043 = 43 %
Load 300 b/ 44
Exta S - (02 m> - PGS = 0.283=2¢% 7%2
Snf 795 w2 RBamchiry

Extn A = Hotwm*-3729," _ p2ze 2% 743%

m‘% 27.9 1w"v StLeM o
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